Hw #1)

D The moaximom value for o in this Problem with an 8”&"@ H" Shes‘-

oF paper is hall tre shodet side, whith in s case, IS 435"
resvicted

Vo= % (8:5-ax)(11-2) +x® on [0,4.28) € dumain
| 1% dowetive fest

+ 1= 4+

}
'

VIX) = BxP-39x2+93.5x

V= I5xX=F8X+93.5 =0

[

1
1 n

bl #s are (= -8 F4RR|965 X, Xa
Xa=3.335%18035

since V'(X) Aranger Sign tram B h (5 ot X, his o-ihcal # Welds
a loca\ max. Howerar we vse Hhe closed iviteas] method Fo sohe This prblam.

X 1 v
O ) The absolate mon. Voluwe i€ F6.76h in

Zl.1615 which ocwrs ot e od gt 4.25.

Yo | ©3.517%%5
H5 | 76.765625 < may,

R The opm topped box Hhat resdls in +he maximal cose is o Shrip
ot poper with dimensigns 5" b,‘j 3.5, (Etvo hcigmgv'ﬂnb‘ \hwpmr

becaose the max, orwred ot an edpt. lewing no reomithe heigha
i Pro opeh——‘\wpd box.

D )= x(6—a)10-2)+x on [0,3]

VXY= 5x>—33+60X X LN
ol|lo
V0= 153 -G x+60=0 X |35.000905
Critita) FHe are X,= 1390964752 Xa | R6-818354
3 |27

Xa=R.975701915
The abs Mok, Volome is 35.000905 il whith ocws b X,



